1.

In the diagram, 4BC and ADE are straight lines.

CE and BD are parallel. '\% 06
AB = AD.

Angle BAD = 38°,

P Diagram NOT
accurately drawn
B D

38¢
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Work out the value of p.

Give a reason for each step in your working.

(Total 4 marks)
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3. In the diagram, POR and PST are straight lines. Maﬁ oS 4
OS and RT are parallel lines.
Angle QRT=70°.
Angle OST=120°.
Diagram NOT
accurately drawn
(a) Work out the value of x.
X hes Dl
3)
(b) Give a reason for each step in your working.
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(Total 5 marks) |
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Diagram NOT
accurately drawn

ABCD 1s a trapezium.
AB 1s parallel to DC.
Angle BAC = 18°.
Angle ABC = 20°.
AD = DC.

Calculate the size of angle ADC.
Give a reason for each step in your working.
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AB and CD are parallel straight lines.
PQ and PR are straight lines.
(a) (i) Find the value of x.

x=

(ii) Give a reason for your answer.

(b) Find the value of y.
Give a reason for each step in your working.
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(Total 4 marks)
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